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1. Evalua te the giv(,11 limits 
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1 I' · , 2 . (B) Find the derivative of f(.,. ) = + ~ .2 ( ll cctly ..flOlII t he defillltlOll of derivatl'v . . 
.L . e. 
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)(2(xt-h)Z. h ;<,~ 

(b) Filld "a lues of (I a nd b that make = -2 
X3 

if :r ~ 1f (.r) = { .r + b 
-ax + 3 if .r > 1 

differE'lltiablc at :1: = 1. 
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tim ~ exJ -- b"Y) (x+b) = l.tb 
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2-2.2, I -2 - - I- -:: (; J 

Eq I.)o.-h:n ' j -J -=t / -2 ') 

(b) Find a ll points on the curve y = ~ , \I,I , lere . t h.c tangent hne " IS parallel to til I' -x :l (C me 

Y= 2+ 1. 

b.= ~k po)r")+
)(=..;9le-t ~ j =-i- c# +~d 
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4 . (a) Find the deri vative of eXY cos (:!:.) = .r + ! 
!J !J 

(b) Fiud the deriva tive of!} = .r';'" 
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(e) Suppose that f (2) = 2 and 1' (2) = 3. Find g'(2) if g(x ) = x2 f( :c) 

3(")= ;<.2~&') 
51(x)= 2x-f()() +Al-f I(x) 

1.. '(2)31 (2).:: 2· 2 -~ t- (:d -1 ..- J 

31(.2') = ~ ..2 -t-~ . J 

31
(.2) = 20 


